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Example: This graph shows the approximate height of the tide, h metres, as a function of time, ¢, at
Port Clements, Haida Gwaii on June 17, 2009.
Height of Tide at Port Cl ts, . ,
s e .E....M wu Noocw ements a) Identify the dependent variable and the independent
variable. Justify your choices.
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| c) Determine the domain and range of the graph. :
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Example: Here is a graph of the function g(x) = 4x - 3.
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\ a) Determine the range value when the domain value is 3.
8 \ ( ,i, %)= & _ o€ (D)=~ (2 ) -2
mhxv =4dx -3 |
i / b) Determine the domain value when the range value is -7.
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